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init(R)
| translation(u,v)
| rotation(u,v,6)

| p;p

| {p}or{p}

| iter{p}
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ppass AN

initialization, with a point in R

translation by vector (u,v)

rotation defined by center (u,v) and angle 6
sequence of operations

choice (the branch taken is non-deterministic)

iteration (the number of iterations is non-deterministic)
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[init(R)]JA = R
[translation(u,v)]A = {trans(p, (u,v))|p € A}
[rotation(u,v,0)]A = {rotate(p,(u,v,0))|p € A}

AN transt rotate= A 2= Qe 7S} U 2] & A SJstet.
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init({(0,0),(0,1)});
iter{

{

translation(1,0);

for{

translation(l,1);



